1) No Solutions

Algebra IT Homework #16 — Answer Key

x#—4,12
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4) 12 hours

5) No Solution x#-5

a=
8y —9x

m#0,y#0,a#0,x#0,8y #9x

6) 3(x—1)2=6
7) y:3(x—1)2—8 V =(1,-8)
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X = 2+10r—\/5+1

x=1 min=-8 skinny factor 3

width = 60
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11) y=-16x"+180x+9 )’:—16(3(—?)2"'7 5.625 seconds
515.25 feet
3 7 3 —3++14 -3-+/14
12) 4(X+—)2:14 x:i\/:—— X = \/—0}/' \/_
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:_5 X+—2+— V: — . = — = — i
13) VY ( 5) 5 (5 5) x=—— max=-_ skinny factor 5
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14) A=-1(x—215)"+46225 width=215 length=215 Area=
46225




7V 61 Jo1 7 J61-7 _Je1-7
15) =3 = . —

x+—| =—
6 12 6 6

16) y:%(x+5)2—11 V=(-5,-11) x=-5 min=-11 fat factor 2
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17) y=-16x"+60x+7 y=—16(x—§)2+T 1.875 seconds  63.25
feet
1 —7++91 —T7-+91
18) 7(x+1)> =13 x:i\/g_l Y= 7 7\/9—07” 7 7\/9_

9., 143 9 —143 9 143
=7(x-——)"—-—— V=(—,——) x=— max=—— skinny factor 7
19) y=-Tx=) =7 Syae 14 28 Y
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20) V' =-36(x—3)"+324 height of box=3 widthofbox=6 length of

box = 18
Volume = 324




